Part A> Exhaustive Search

Given N integers and a target integer V, write a program to find in how many ways we can arrange these integers into a sequence X(1)X(2)…X(N) such that 
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For example, Let N=3, V=25 and the integers be 3, 4 and 5 then there is 1 solution which is 4 3 5 since 4*1 + 3*2 + 5*3 = 25. 

Solve this problem by checking all the permutations of the N integers.

(Bonus) Given N integers, write a program to find in how many ways can these integers be partitioned into 2 parts such that the sum of the elements of the 2 parts are equal.

Solve this problem by generating all possible cases in a systematic way.

Provide a table of time measurements as a function of N (as long as the time is less than 15 minutes). Let Z be the largest problem size that can be solved in less than 15 minutes, estimate the time needed to solve sizes from Z+1 up to some suitable value.

Hint: Computing the complexity of your programs is needed to calculate the estimations.
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